20215F 8 BEREOXRHEAERERE EREHRS—EEFRA)

] - EREE (ko)
Tavy PR RE SMEFE MM (3) 5w | 25 end—Tmo—al ar
6 338.0 0.0] 97.0[ 2565 6915
m 1EH 4] 1EE] 3045 00| 380[ 7a5| 417.0
. 2EH 3| 2@EE| 335 00| 5090|1820 2745
i
6 338.0 00| 970[ 2565] 6915
LET Qoo B 1EH 4] 1EE| 3045 00| 380[ 745] 4170
2EH 3| omE|[ 335 00| 50.0| 1820 2745
1 16.0 0.0 00[ 740 90,0
BB 1EH o| 1mH 0.0 0.0 0.0 0.0 0.0
2EH 1| 2mE| 160 0.0 00| 740 90,0
2 170| 4980| 1100| 310| 656.0
HER 1EH 1] imA| 170 0.0 70| 170 410
2EH 1] 2mH 00| 4980| 1030| 140| 6150
3 0.0 00| 175] 1750 1925
B 1EH o| 1mH 0.0 0.0 0.0 0.0 0.0
2[E B 3 2[E B 0.0 0.0 17.5 175.0 192.5
0 0.0 0.0 0.0 0.0 0.0
i HER 1EH o| 1mH 0.0 0.0 0.0 0.0 0.0
2EH o| omH 0.0 0.0 0.0 0.0 0.0
3 591.0 00| 985[ 481.0] 11705
W 1EH 3| 1EE] 3420 00| 470] 2510 640.0
2[E B 1 2[E B 249.0 0.0 51.5 230.0 530.5
5 3615| 515| 365[ 2085| 6580
BBR 1EH 4] 1mA| 3615| 515| 365| 1985| 6480
2[E B 1 2[E B 0.0 0.0 0.0 10.0 10.0
14 9855 | 549.5| 262.5| 9695 2,767.0
T ITOvo 1EH 8| 1EE| 7205| 515| 905| 4665| 13290
2[EH 7| 2EB| 2650| 498.0| 1720 503.0| 1.438.0
4 270.0 10[  720| 1760 519.0
TR 1EH 3| 1EE] 1050 00| 300[ B20| 2170
2[E B 4 2[E B 165.0 1.0 42.0 94.0 302.0
1 0.0 0.0 00[ 850] 850
AR 1EH R 0.0 0.0 00[ 850] 850
2[EH 0 26 H 0.0 0.0 0.0 0.0 0.0
1 1405| 315 0.0 0.0 1720
BER 1EH 1] am\E| 725 180 0.0 00[ 905
2[EH 1 26 H 68.0 13.5 0.0 0.0 81.5
1 316.0 00| 170 00| 3330
HER 1EH o] 1mEE 0.0 0.0 0.0 0.0 0.0
2[EH 1 26 H 316.0 0.0 17.0 0.0 333.0
7 5000 180| 620[ 4750] 1,065.0
FER 1EH 7| 1EE| 4005 80| 435| 2930| 7450
2[EH 5 26 H 109.5 10.0 18.5 182.0 320.0
4 309.0 00| 440[ 205] 3735
B=R R 1[EH 3 1[EH 157.0 0.0 17.5 7.5 182.0
2 4| 2EH| 1520 00| 265 130| 1915
0 0.0 0.0 0.0 0.0 0.0
IR 1EH o] 1mE 0.0 0.0 0.0 0.0 0.0
2 o] 2mE 0.0 0.0 0.0 0.0 0.0
2 0.0 0.0 1.5 117.0 118.5
FRR 1EH 1| 1EH 0.0 0.0 00| 1120] 1120
2 1| 2@H 0.0 0.0 15 5.0 6.5
4 12200 | 125| 1485 3400 1,730.0
e 1EH 2| 1mB| 7140| 125| 775 1590] 963.0
2[HH 4 2B H 515.0 0.0 71.0 181.0 767.0
0 0.0 0.0 0.0 0.0 0.0
HER 1EH o] 1mEE 0.0 0.0 0.0 0.0 0.0
2 o] 2mE 0.0 0.0 0.0 0.0 0.0
24 27745| 630 3450 12135] 4396.0
BRI O AR 1EH 18] 1EB| 14490| 385| 1685| 7385| 23945
26 H 20 2[BIH| 1,325.5 24.5 176.5 475.0 | 2,001.5




2 1,120.0 0.0 315 37.0] 1,1885
BILR 1= 5 1| 1EEB| 5000 0.0 22.0 00| 5220
2EH 2| 2@EHE| 6200 0.0 9.5 37.0| 6665

4 0.0 00| 1160| 1125| 2285

BIIR 1= 5 = 0.0 0.0 55.0 0.0 55.0
2EH 4] 2mB 0.0 0.0 61.0| 1125|1735

0 0.0 0.0 0.0 0.0 0.0

EE 1= 5 0| 1mA8 0.0 0.0 0.0 0.0 0.0
2EH o 2@EH 0.0 0.0 0.0 0.0 0.0

1 295.0 43.0 00| 429.0| 767.0

RBHR 1E B 1| 1@EH 89.5 43.0 00| 1805| 313.0
b 2B H 1| 2mB| 2055 0.0 00| 2485 454.0
ik 4 508.5 1.0 445| 1075| 6615
I 2 R 1E B 4| 1EE| 2265 1.0 10.5 80.5| 3185
2E 8 3| 2mEB| 2820 0.0 34.0 27.0| 3430

4 29.0 4.0 255| 7925| 8510

EHIR 1E B 3| 1mA8 0.0 0.0 85| 4865| 495.0
2E 8 3| 2@EH 29.0 4.0 17.0 | 306.0 |  356.0

2 0.0 0.0 00| 385.0| 3850

=ER 1E B 2| 1@EH 0.0 0.0 00| 3850| 3850
2E 8 0| 2mA8 0.0 0.0 0.0 0.0 0.0

17 1,952.5 480 | 2175 1,863.5| 40815

- LT 1EB 12| 1EH| 8160 44.0 96.0 | 1,1325| 2,0885

2EH 13| 2MEH| 11365 40| 1215| 731.0] 1,993.0

0 0.0 0.0 0.0 0.0 0.0

HER 1EB 0| 1mA8 0.0 0.0 0.0 0.0 0.0
2EH 2EH 0.0 0.0 0.0 0.0 0.0

1 0.0 00| 1700 00] 170.0

AR 1EB 0| 1mA8 0.0 0.0 0.0 0.0 0.0
2EH 1] 2mA 0.0 00| 170.0 00| 1700

6 107.0 00| 1060| 9485| 1,615

KRR 1EB 6| 1MEH 64.5 0.0 635| 8305| 9585
2EH 3|  2mAB 425 0.0 425| 1180| 203.0

1 0.0 0.0 0.0 17.5 17.5

it EER 1EB 1| 1MEH 0.0 0.0 0.0 17.5 17.5
2EH 0| 2mB8 0.0 0.0 0.0 0.0 0.0

1 62.5 2.0 0.0 0.0 64.5

RER 1EB 1| 1MEH 26.5 2.0 0.0 0.0 28.5
2EH 1|  2@EH 36.0 0.0 0.0 0.0 36.0

0 0.0 0.0 0.0 0.0 0.0

EATTES 1EB 0| 1mA8 0.0 0.0 0.0 0.0 0.0
2EH 0| 2mA8 0.0 0.0 0.0 0.0 0.0

9 169.5 20| 2760| 966.0| 1,4135

E#IOvsatt 1EB 8| 1@AE 91.0 2.0 635| 848.0| 10045

2EH 5| 2@EH 78.5 00| 2125| 1180]  409.0




3 10.5 2.0 0.0 478.0 490.5

BmE 1[EH 2 1[E1H 10.5 2.0 0.0 114.0 126.5
2[E1H 2 2[EH 0.0 0.0 0.0 364.0 364.0

3 3.0 0.0 8.0 431.0 442.0

BRE 1[EH 2 1[E1H 3.0 0.0 8.0 173.0 184.0
2[E1H 2 2[EH 0.0 0.0 0.0 258.0 258.0

8 521.0 33.5 3025 | 1,195.0| 2,052.0

fiE LR 1[EH 8 1[HEH 253.0 22.5 175.5 625.0 | 1,076.0
2[E1H 5 2[E1H 268.0 11.0 127.0 570.0 976.0

5 377.0 0.0 92.0| 1,391.5| 1,860.5

LER 1[EH 3 1[HEH 228.0 0.0 14.0 45.0 287.0
2[E1H 5 2B H 149.0 0.0 78.0| 1,346.5| 15735

HE 1 106.0 10.0 24.0 401.0 541.0
: g 1[EH 1 1[HEH 71.0 7.0 15.5 193.0 286.5
£l 2[E1H 1 2[EH 35.0 3.0 8.5 208.0 254.5
0 0.0 0.0 0.0 0.0 0.0

BER 1[EH 0 1[HEH 0.0 0.0 0.0 0.0 0.0
2[E1H 0 2B H 0.0 0.0 0.0 0.0 0.0

3 280.0 0.0 91.0 307.5 678.5

FNE 1[EH 2 1[HEH 65.0 0.0 34.0 142.5 241.5
2[E1H 3 2B H 215.0 0.0 57.0 165.0 437.0

1 38.5 0.0 7.5 8.0 54.0

=R 1[E 8 0 1[E8 0.0 0.0 0.0 0.0 0.0
2[HEH 1 2[E1H 38.5 0.0 7.5 8.0 54.0

24 1,336.0 45.5 525.0 | 4,212.0| 6,118.5

HE-EEIAVIEE 1[EH 18 1[EH 630.5 L5 2470 ( 1,2925]| 2,201.5

2[EH 19 2[EH 705.5 14.0 278.0 | 2,919.5] 3,917.0

11 118.0 4.0 26.0 798.5 946.5

B[R 1[E 8 9 1[E8 69.0 4.0 13.5 265.0 351.5
2[HEH 11 2[E1H 49.0 0.0 12.5 533.5 595.0

2 6.0 0.0 0.0 27.0 33.0

EER 1[E 8 2 1[E8 6.0 0.0 0.0 27.0 33.0
2[HEH 0 2[E1H 0.0 0.0 0.0 0.0 0.0

2 0.0 0.0 9.5 468.0 477.5

IR 1[E 8 2 1[EH8 0.0 0.0 6.0 313.0 319.0
2[EH 1 2[E 8 0.0 0.0 3.5 155.0 158.5

7 115.0 0.0 23.5 365.0 503.5

AR 1[E 8 4 1[EH8 17.0 0.0 6.5 175.5 199.0
e 2[EH 6 2[E 8 98.0 0.0 17.0 189.5 304.5
4 0.0 0.0 29.0 353.5 382.5

AR 1[E 8 3 1[EH8 0.0 0.0 12.5 147.0 159.5
2[EH 3 2[E 8 0.0 0.0 16.5 206.5 223.0

3 65.0 0.0 55.5 409.0 529.5

BHIER 1[E 8 3 1[EH8 39.0 0.0 34.5 101.0 174.5
2[EH 3 2[E 8 26.0 0.0 21.0 308.0 355.0

2 27.0 0.0 12.0 31.0 70.0

ERSR 1[E 8 1 1= 8 0.0 0.0 0.0 13.0 13.0
2[EH 1 2[EH 27.0 0.0 12.0 18.0 57.0

31 331.0 4.0 1555 | 2,452.0 | 2,942.5

AMITOvoER 1[EH 24 1[EH 131.0 4.0 73.0 | 1,041.5| 1,249.5

2[E 8 25 2[EH 200.0 0.0 825 | 1,4105( 1,693.0

1 372.0 216.0 70.5 873.0| 1,531.5

R 1[E 8 0 1= 8 0.0 0.0 0.0 0.0 0.0
il 2[EH 1 2[EH 372.0 216.0 70.5 873.0| 1,531.5
1 372.0 216.0 70.5 873.0 || 1,531.5

MEIOvIER 1[EH 0 1[EH 0.0 0.0 0.0 0.0 0.0

2[HEH 1 2[E1H 372.0 216.0 70.5 873.0 | 1,531.5

125 8,259.0 928.0 | 1,949.0 | 12,806.0 || 23,942.0

e 1[E 8 92 1EIB| 4,142.5 1715 776.5 | 5,594.0 || 10,684.5

2[EH 93 2EIB| 4,116.5 756.5 | 1,1725| 7,212.0 | 13,257.5




